
Replication File for the Quantification Results in

“The Alibaba Effect: Spatial Consumption

Inequality and Welfare Gains from E-Commerce”

by Fan, Tang, Zhu and Zou

May 12, 2018

1 Main programs

1. The Matlab program program1 calibration produces Table 6, Table 7 and
Figure 1.

2. The Matlab program program2 validation produces the main data needed
for Table 8. This program also prints the second row of Table 8. The
STATA program Stata program validation produces Table 8, Figure D1
and Table D5.

3. The Matlab program program3 counterfactual produces Table 9, Figure
2, Figure 5 and Figure 6. It also produces the data for Table 10. The
STATA program Stata program spatial inequality produces Table 10,

4. The Matlab program program4 decomposition produces Figures 3 and 4.

5. Each of the matlab programs numbered 5a—5e produces a corresponding
column for Table D6, Table D7 and Table D8.

2 User-define Matlab Functions used in the pro-
grams

• “Func Solve The Model v0:” main function for solving the model.

– This main function takes three structures as inputs and returns a
structure with market outcomes as output. The structure contain in-
formation on Parameters, TradeCosts and Options respectively. We
update the Parameters, TradeCosts and Options structures during
the calibration routines.
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– “Func Solve The Model Mute v0:” performs the same task while dis-
playing less output (used when matching city-specific nominal income
with the data.).

• “Func SolvingTwoEqm:” key function for the calibration routine. This
function takes a vector and returns the value of the objective function.

• Func Summarize By Groups: This function takes a variable vector and
the population vector and returns the average by city size or market po-
tential quintile

• Func Summarize By Half: This function takes a variable vector and the
population vector and returns the averages for observations above the
median and below the median.

• “Func v2struct:” collecting information to form structures and extracting
information from structures.

3 Algorithm used in “Func Solve The Model v0:”

1. Guess P and Firm Mass.

2. Guess w, check labor clearing condition. Update w until labor market
clears.

3. Check Free Entry Condition and Update P to P ′. Stop when free entry
condition is satisfied and P = P ′

4. Compute model outcome of interest and collect them into a structure by
calling the “Func v2struct” function.
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